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Molar Conversions Practice, Part Il

Calculate the molar mass of each of the following substances.

1) BaO = g/mol 2) AlLS; = g/mol
3) Ba(NOj), = g/mol 4) NaOH = g/mol
5) P,O.o = g/mol

Perform the following conversions. Show all work.

6) 50.8 g BaO = mol

7) 75.0 g Ba(NOs3), = mol

8) 3.66 x 10°g P4O10 = mol
9) 2.72x10° g Al,S;3 = mol
10)160.0 g NaOH = mol

Perform the following conversions. Show all work.

11) 1.30mol Ca(OH),=__ g

12)1.93 mol Fe = g

13)0.0937 mol CgH1,06=_ g
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14)17.4 mol C4Hyp = g

15)1.19 x 10° mol U = g

Perform the following conversions. Show all work.

16) 1.75 g FeO = mol FeO
17)1.75 g FeO = formula units of FeO
18)7.30 x 10* molecules of H,O = mol H,0
19)7.30 x 10% molecules of H,O = g H,0
20)109 g Au = atoms Au
# of
particles # of

grams

6.02 x 107 particles

mol molar mass from

periodic table

# of
moles

22.4liters
mol

# of liters {only for
gases at STP)
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Perform the following conversions. Show all work.

16) 1.75 g FeO = mol FeO
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